1. (a-b-c)?2 3A AMNF A2

@ a®+ b% + ¢ + 2ab + 2bc + 2ca
@ a® 4 b% + ¢ - 2ab — 2bc — 2ca
® a® - b? - c® - 2ab — 2bc — 2ca

@ a®+ b% + ¢ - 2ab + 2bc — 2ca

® a? - b? -2 + 2ab — 2bc — 2ca
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1999 x 2001 9] gt= st & o, 718 A

® m(a+b) = ma+ mb

@ (a+b)? =a®+ 2ab + b?

® (a-b)(a+b)=a*>-b?

@ (x+a)(x+b)=x*+(a+b)x+ab

® a?+b? = (a+b)? - 2ab
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A A(x—1) + B(x - 2) = 2x - 3914 WA+ A, BE 72 1,
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(x+1)° = ag+a1x+asx® + azx® + agx* + asx° ©] x ol gt Y5
‘IH, ap + ay +a2+a3+a4+a594 %}:’%:IL—E]'%()

@ 8 @ 16 ® 32 @ 64 ® 128



7. O -2 4 5r- 62 DA x- 22 L we] Lz

Do @1 ® 2 @ 3 ® 4



8. O f(x)E 2x° +3x+ 22 WFAHY 5o] 3x-40]aL, Y A7}
2x 4+ 50|}, o] w, £(1) 9] §h2?

® -1 @ 0 ®1 @ 3 ® 5
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10.  (2x3 = 3x2 4+ 3x + 4)(3x? + 2x3 — 2x% — Tx + 8) = T Ao A &3
o] Ag?

@ 31 @ 33 ® 35 @ 37 ® 39



11. o5 -S40l ko gholl BAQlel ¥ 4HE

oF off, xy 2] FH-& rotof =t

(2k+3)x+ (Bk—=1)y+5k—-9=0




12, o4 623 — 762 + 17x - 32 3x - 22 Y 52 0(x), YHAIE R
olgt & mj, O(1) + R 9] FH-& F-stei=t.
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13, oA 8 - 1S4 + 2x + 12 WF3le W 52 0(x) = &
O(x) & =] Are?

© -2 @ -1 ® 0 @1 ® 2



14. o3 5o
22
® x-1

@ o, teht 2157k obd

@ x+1 ® x+2



15. ¥ 9 AL7E1 A TR f(x) Ex-Lx-2,x-3 2= Uar
U A 7F 242F 2,4,6 A ©, f(x) B x—4 2 e U A5 FoHHE?

@ 2 @ 5 ® 7 @ 11 ® 14



16. o4 200 4 2x% xS x4 12 19l 1] $2 o(x) 2 @ 1,
0(x) 8 x- 12 L3l u ] oA

© -2 @ -1 ® 0 @ 1 ® 2



17, 2% +xy-3y* +5x+5y+ 25 U520l SFH(x+ay+b)(2x+cy+d)
oltt. ol W, a+ b+ ¢ +d 9 #= F5toi=t
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2Fe ABC O AIHe] Ao a,b, ¢ Atololl a® +a®b - ac® + ab® + b° -
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x & Y f(x) = & —ax—10] A%7}
A4 a ] e Fohu?
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